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The following problem from steady state analysis is solved using FORTRAN complex number code (given below).
Let r1=10 ohm , r2=20 ohms

The total impedance is 

Zt = r1 + Zp       where

Zp = ( 1/r2+1/Zc )-1     , Zc = -11.55 j  (ohms).

I = V / Zt   ,   I1=(V-I*r1)/r2   , I2= I- I1       .The Fortran code transcribes this formulation exactly as it is written.
FORTRAN CODE 

c example 3.8 Schaum BEE using Fortran complex numbers code

      complex V , I , I1, I2 , zc , zp , zt

      data r1,r2/ 10.,20./

      pi=2.*asin(1.)

      rtodeg=180./pi

      degtor=1./rtodeg

      v=cmplx(173.2,0.*degtor)

      zc=cmplx(0.,-11.55)

      zp= R2*zc/(r2+zc)

      zt=r1+zp

      I=v/zt

      i1=(v-I*r1)/r2

      i2=I-I1

      print*,'abs(i), anglei=',abs(i),rtodeg*atan(aimag(i)/real(i))

      print*,' '

       print*,'abs(i1), anglei1=',abs(i1),

     $  rtodeg*atan(aimag(i1)/real(i1))

       print*,'  '

        print*,'abs(i2), anglei2=',abs(i2),

     $  rtodeg*atan(aimag(i2)/real(i2))

      stop

      end

       ANSWERS

        abs(i), anglei=  9.99841022  29.9999962

 abs(i1), anglei1=  5.00017738 -29.9935646

 abs(i2), anglei2=  8.65831566  60.006424

